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I ERERA 23,642,000 )[( 28,694,200 )| A 5,052,200
1 NFHEIRRR 4 480,000 480,000 0 30,000/ x 164
2 = ANBRIRAE (BRAGESHER) 518,000 1,554,000 | A 1,036,000
(1) RAFEEEHLH 518,000 1,554,000 | A 1,036,000 370M/% x 1,400 %
3 S NMRFR 4 (B S =2 4%) 22,644,000 26,660,200 | A 4,016,200
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2 8 R M OB 500,000 217,775 282,225
3 M = B 1,428,000 1,547,000 A 119,000
4 fEEE AR 250,000 154,794 95,206
5 W 4 # 200,000 125,442 74,558
6 it X iEE 2,000,000 1,066,864 933,136
T8 # OB 1,800,000 442,262 1,357,738
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9 #H ML E B 100,000 83,600 16,400
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1M B oA # 20,000 53,468 A 33,468
v B % 70,000 )[( 10,294,100 )| A 10,224,100
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